
①

＝

x－7－6x－5

②

＝

8x＋x＋2－9

③

＝

＝

－
3
2

x＋ 5
x

④

＝

＝

－ 7
x
－ 4

x

Ａコース Ｂコース Ｃコース Ｄコース

⑤

＝

＝

2x－7 ＋ －x－5

⑥

＝

＝

－6x－1 － 5x＋9

⑦

＝

5
x
＋

2
3

＝

＝

－ 7
x
－

1
4

①

＝

＝

6a－4 × －
5
2

②

＝

＝

＝

5x＋7
3 ×21

③

＝

＝

＝

－x＋3
4 ×(－16)

④3

＝

＝

2x－7 ＋4 －3x＋6

⑤－3

＝

＝

2x－5 － 4x＋8

⑥

＝

＝

9a－18 ÷3

⑦

＝

＝

15x－6 ÷ －9

①

＝

＝

3x－5
7 －

2x－4
5

＝

＝

＝

②

＝

＝

x＋3
3 －

5x＋3
6

＝

＝

＝

③

＝

＝

－3a－
11a＋7

4

＝

＝

＝

④

－ －4x＋2
5x－7

⑤

＋ 9x－4
x－3

② －5x－9， 7x－3

和

＝

＝

差

＝

＝

③ x－ 2 y＋ 3
項

係数

係数

④ 4
x
＋y－1

項

⑧－4

＝

－7a－8

⑥

＝

(28a－42)÷(－ 3
7
）

＝

＝

① Ａ＝4x－7, Ｂ＝－3x＋9
2Ａ＋Ｂ

3Ａ－2Ｂ

＝

＝

＝

＝

＝

＝

ＮＯ６

ＮＯ７

ＮＯ８

ＮＯ８

ＮＯ８

ＮＯ８

ＮＯ８

ＮＯ１０

ＮＯ９

ＮＯ９

ＮＯ９

ＮＯ９

ＮＯ９

ＮＯ１０

ＮＯ１０

ＮＯ９

ＮＯ１０

ＮＯ１０

ＮＯ５

解 説

中
１

ＮＡＭＥ

各問題
文字式の計算－総合①

文 字 式

に記載

mistake
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